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slgna\s for spectral colours
2 2Q[1,0¢ &r+xp)]
relative luminance:
0.9% 90%
0,2% 20%
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I process

= -)40,500
Lp= 100 cd/n?

-I-signals for spectral colours + Whit
~20[1,0C kr+xp)]
relative luminance:
0,9% a7 90%
0.2% T 20%
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I process
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J-I-signals for spectral colours
~2Q[1,0c
relative luminance:
0,9%
0,2%
0,04%

—
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relative luminance: =

/d’ 20%
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I process

2 20|
Telative luminance:
1

J-I-signals for surface colours
~2Q[L,0C &r+xp)]

2
relative luminance:

Z 90%
20%
4%

1 process

+I-signals for surface colours + Whitg
Q[L0c fr-+xp)]

2
relative luminance ~ =

9% #7 90%
2% 20%
0,4% /f 4%

1 process
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~2Q[1,0c &r+xp)]

2
relative luminance:

0,9%
0,2%
0,04%
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20%

%
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J-1-signals for spectral colours
~2Q[1,0¢ kr+xp)]

H
relative luminance:
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3 s\gna\s for surface colours
2Q[1,0c &r+xp)]

2
relative luminance:

2
relative luminance:
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-I-signals for spectral colours + Whit

~2Q[1,0¢ Kr+xp)] -

4,0% DD.') 400%
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'0,04% / 4%
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—_— I process

m=1, Xp=,

= 9
L= 100 cin?

~20Q[1.0¢ fr+xp)]

2
relative luminance:

40%
9%
2%

J-I-signals for spectral colours
~2Q[1,0¢ kr+xy

2
relative luminance:

4,0%
0,9%
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2
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I process
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Lp= 00 cdin?.
5 43 -2 -1 0 ix=logl

Lb 100 cd/n?. Lp= 100 cdin? Lp= 100 cdin?

-5 -4 -3 2 10 dxr=logly

5 4 -3 -2 -1

UB- test chart KE32; Ph¥15|olog|cal signals of colour vision input:rgb setrgbcolor
daptation to gre an ite backgroun output: no change compared to i




